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# E
BH (B4 ) HAL j<®;:| 7<®|:|
BLHRA BHFFR
VF4—I7Abarz)—F (FEtACMEH) 18-8—-25 (20) JIS 5308 m 3 20, 500 22, 500
VF4 =3I AbaryszY—F (F@bACMEA) 18-10—25 (20) m 3 20, 500 22, 500
VF4—I7Abharz)—F (F@EtACMEH) 18—-12-25 (20) JIS A 530 m 3 20, 500 22, 500
VF4 =/ Abarys—F (@A NMEA) 18-15—-25 (20) JIS A 530 m 3 20, 500 22, 500
LF4—=3I7ALarys )= (kALY MEMA) 18-18-25 (20) JIS A 530 m3 20, 500 22, 500
VF4 =/ AbarysY—F (@A NMEH) 21-8-25 (20) JIS A 5308 m 3 20, 900 22, 900
VF4—Is7Abarz)—F (E@EtACMEH) 21-10-25 (20) m 3 20, 900 22, 900
VF4—sAbarys—F (@A NMEH) 21-12-25 (20) JIS A 530 m 3 20, 900 22, 900
VF4—I7Abarz)—F (F@EtACMEH) 21-15-25 (20) JIS A 530 m 3 20, 900 22, 900
VF4— /A barys—F (@A NMEH) 21-18—-25 (20) JIS A 530 m 3 20, 900 22, 900
LF4—3I7ALarys Y= (@t AYMEMA) 21-21-25 (20) JIS A 530 m3 20, 900 22, 900
VF4—3I A baryszY—F (FEbACMEH) 24-8-25 (20) JIS 5308 m 3 21, 300 23, 300
VFE4—Is7Abarz)—F (FEtACMEH) 24—-10-25 (20) m 3 21, 300 23, 300
VFA4— /A barys—F (@A NMEH) 24-12-25 (20) JIS A 530 m 3 21, 300 23, 300
VF4—I7Abarz)—F (G@EtAYMEH) 24—-15-25 (20) JIS A 530 m 3 21, 300 23, 300
VF4 =/ Abarys—F (@A NMEH) 24-18—-25 (20) JIS A 530 m 3 21, 300 23, 300
VF4—I7Abharz)—F (FEtAYMEH) 24-21-25 (20) JIS A 530 m 3 21, 300 23, 300
VF4—3I /A baryszY—F (@b ACMEH) 27-8-25 (20) JIS 5308 m 3 21, 700 23, 700
VFE4—Is7Abarz)—F (FEwACMEH) 27-10-25 (20) m 3 21, 700 23, 700
VF4—sAbary s —F (@A NMEH) 27-12-25 (20) JIS A 530 m 3 21, 700 23, 700
LF4—=3IsALarys Y= (@t AY MEM) 27-15-25 (20) JIS A 530 m3 21, 700 23, 700
VF4— /A barys—F (@A NMEH) 27-18—-25 (20) JIS A 530 m 3 21, 700 23, 700
VFE4—I7Abarz)—F (F@EtACMEH) 27-21-25 (20) JIS A 530 m 3 122,150 1 24, 150
VF4 =3I AbaryszY—F (F@bACMEH) 30-8-25 (20) JIS 5308 m 3 22,100 24, 100
VF4—Is7Abarz)—F (G@EtACMEH) 30-10—-25 (20) m 3 22, 100 24,100
VF4— /A barys—F (@AY NMEA) 30-12—-25 (20) JIS A 530 m 3 22,100 24, 100
VF4—I7Abarz)—F (F@EtACMEH) 30-15-25 (20) JIS A 530 m 3 22,100 24, 100
VF4 =/ Abarys—F (@A NMEA) 30-18—-25 (20) JIS A 530 m 3 22, 600 t 24, 600
VF4—I7Abarz)—F (F@EtAYMEH) 30-21-25 (20) JIS A 530 m 3 T 22,600 1 24, 600
VF4—3I A baryszY—F (FEbACMER) 33-8-25 (20) JIS 5308 m 3 22, 550 24, 550
VF4—Is7Abarz)—F (E@EwACMEH) 33-10—-25 (20) m 3 22, 550 24, 550
VF4 =/ Abarys—F (@AY NMEA) 33-12—-25 (20) JIS A 530 m 3 22, 550 24, 550
VF4—I7Abarz)—F (F@EtAYMEH) 33-15-25 (20) JIS A 530 m 3 22, 550 24, 550
VF4 =3 AbarysY—F (@AY NMEA) 33-18—-25 (20) JIS A 530 m 3 23, 100 t 25, 100
VF4— VA barysY—F (E@kAYMEA) 33-21-25 (20) JIS A 530 m 3 T23, 100 1 25, 100
VF4—3I A baryszY—F (@b ACMEH) 36-8-25 (20) JIS 5308 m 3 23, 100 25, 100
VFE4—Is7Abarz)—F (G@EtACMEH) 36—-10—-25 (20) m 3 23, 100 25,100
VF4— s Abarys—F (@A NMEA) 36-12—-25 (20) JIS A 530 m 3 23, 100 25, 100
VF4— s Abarys)—F (E@kAYMMEA) 36-15—-25 (20) JIS A 530 m 3 T 23, 650 T 25, 650
VF4— A barysY—F (@A NMEA) 36-18—-25 (20) JIS A 530 m 3 23, 650 t 25, 650
VF4— s Abarys)—F (E@kAYMMEA) 36-21—-25 (20) JIS A 530 m 3 T 23, 650 T 25, 650
VF4—3I A bary sz Y—F (FEbACMEH) 40-8-25 (20) JIS 5308 m 3 T 24, 200 t 26, 200
VFE4—Is7Abarz)—F (EEtACMEH) 40-10—-25 (20) m 3 T 24, 200 t 26, 200
VF4— /A barys—F (@A NMEH) 40-12—-25 (20) JIS A 530 m 3 T 24, 200 t 26, 200
VFE4—I7Abarz)—F (G@EtAYMEH) 40-15-25 (20) JIS A 530 m 3 T 24,200 1 26, 200
VF4 =/ AbarysY—F (@A NMEA) 40-18—-25 (20) JIS A 530 m 3 T 24, 200 t 26, 200
VFA4— A barysY—F (E@kAYMEA) 40-21—-25 (20) JIS A 530 m 3 T 24,200 T 26, 200
VF4 =/ Abarys—F (@AY NMEA) 42-8-25 (20) JIS A 5308 m 3 T 24, 800 t 26, 800
VF4—Is7Abarz)—F (G@EwACMEH) 42-10-25 (20) m 3 T 24, 800 t 26, 800
VF4—sAbarys—F (@A NMEH) 42-12-25 (20) JIS A 530 m 3 T 24, 800 t 26, 800
LF4—=3I7ALarys Y= (@t AY RMEMA) 42-15-25 (20) JIS A 530 m3 24, 800 t 26, 800
VF4— /A barys—F (@A NMEA) 42-18—-25 (20) JIS A 530 m 3 T 24, 800 t 26, 800
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S - B S - Bm
BH (B4 ) HL j<®;:| 7<®n

BLHRA BHFFR
LF =7 A Rarys Y —F (F@EAUMEM) 42—-21-25 (20) JIS A 5308 m 3 24,800 26, 800
VF4 =7 Aarys ) —k (il AY MEF) 45-8-25 (20) JIS A 5308 m 3 25, 400 127,400
VF4 =7 A RarysY—F (F@EACMEM) 45—-10—-25 (20) m3 25, 400 27, 400
VF4 =7 Aarys ) —k (kA MEM) 45-12-25 (20) JIS A 5308 m 3 25, 400 127,400
LF 4=/ A Rarys Y —F (F@EACMEM) 45—-15—-25 (20) JIS A 5308 m 3 25, 400 27, 400
VF4 =7 Aarys ) —k (kA MEM) 45-18-25 (20) JIS A 5308 m3 25, 400 127,400
LF 4=/ A Rary sy —k (F@EAUMEM) 45—-21-25 (20) JIS A 5308 m 3 25, 400 27, 400
VF4 =7 Ay )=k (FEEACMEN 18-5-25 (20) W/ C=65%MUTF m 3 20, 900 22, 900
V=7 A Ay )= (@AY MEM) 18-8—-25 (20) W/C=65%UT m 3 20, 900 22, 900
VF4 =7 Ay )=k (FEEAYMEM) 18-12-25 (20) W/ C=65%UF m 3 20, 900 22, 900
VF4 =7 A Ay )=k (@EEAYMEM) 18-15-25 (20) W/C=65%LTF m 3 20, 900 22, 900
VF4 =7 Ay )=k (FEEAVMEM) 18-18-25 (20) W/ C=65%UF m 3 20, 900 22, 900
V=7 Aays )= (@AY MEMA) 18-8—-25 (20) W/C=60%UT m 3 21, 300 23, 300
VF4 =7 A Ay )=k (FEEAVMEM) 18-12-25 (20) W/ C=60%UF m 3 21, 300 23, 300
VF4 =7 A Ay )=k (@EEAYMEM) 18-15-25 (20) W/C=60%LTF m 3 21, 300 23, 300
VF4 =7 Ay )=k (FEEAYMEM) 18-18-25 (20) W/ C=60%UF m 3 21, 300 23, 300
VF4 =7 A Ay )=k (@AY MEM) 18-21-25 (20) W/C=60%TF m 3 21, 300 23, 300
VF4 =7 A Ay )=k (FEEACMEN 21-8-25 (20) W/ C=60%UT m 3 21, 300 23, 300
V4= A Ay )=k (@EEAYMEM) 21-12-25 (20) W/C=60%LTF m 3 21, 300 23, 300
VF4 =7 Ay )=k (FEEAVMEM) 21-15-25 (20) W/C=60%UF m 3 21, 300 23, 300
VF4—=7Aay s )=k (@AY MEM) 21-18-25 (20) W/ C=60%LTF m 3 21, 300 23, 300
VF4 =7 A Ay )=k (FEEAYMEM) 24-12-25 (20) W/ C=60%UF m 3 21, 300 23, 300
VF4 =7 A Ay )=k (EEAYMEM) 24-15-25 (20) W/ C=60%LT m 3 21, 300 23, 300
VF4 =7 Ay )=k (FEEAVMEM) 24-18-25 (20) W/ C=60%UF m 3 21, 300 23, 300
VF4 =7 A Ay )=k (@EEAYMEM) 27-15-25 (20) W/C=60%LT m 3 21, 700 23, 700
VF4 =7 A Ay )=k (FEEAYMEN) 30-8-25 (20) W/ C=60%UTF m 3 22, 100 24,100
VF4 =7 A Ay )=k (@EEAYMEM) 30-15-25 (20) W/ C=60%LT m 3 22,100 24, 100
VF4 =7 A Ay )=k (FEEACMEM) 36-8—-25 (20) W/ C=60%MUT m 3 23, 100 25, 100
V=7 A Ay )= (@AY MEMN) 21-8—-25 (20) W/C=55%UT m 3 21, 700 23, 700
VF4 =7 Ay )=k (FEEAVMEM) 21-12-25 (20) W/C=55%UTF m 3 21, 700 23, 700
VF4 =7 A Ay )=k (@EEAYMEM) 21-15-25 (20) W/C=55%LTF m 3 21, 700 23, 700
VF4 =7 Ay )=k (FEEAVMEM) 21-18-25 (20) W/C=55%MUF m 3 21, 700 23, 700
VF4 =7 A Ay )=k (EEAYMEM) 21-21-25 (20) W/C=55%LTF m 3 122,150 t24,150
VF4 =7 A Ay )=k (FEEAYMEMN) 24-8-25 (20) W/ C=55%MUTF m 3 21, 700 23, 700
VF4 =7 A Ay )= (@AY MEM) 24-12-25 (20) W/C=55%LTF m 3 21, 700 23, 700
VF4 =7 A Ay )=k (FEEACMEN 27-8-25 (20) W/ C=55%MUTF m 3 21, 700 23, 700
V=7 Aay s )= (@AY MEM) 30-8—-25 (20) W/C=55%UT m 3 22,100 24, 100
VF4 =7 Ay )=k (FEEAYMEM) 30-12-25 (20) W/C=55%UF m 3 22, 100 24,100
V4= Abay s )= (@AY MEM) 36-8—25 (20) W/C=55%MUT m 3 23,100 25, 100
VF4 =7 A Ay )=k (FEEAYMEN) 40-8-25 (20) W/ C=55%MUTF m 3 24, 200 26, 200
VF4 =7 A a7 )= (@A MEMN) 18-5-40 J1IS A 5308 m 3 - -
VF4—=IJAbary sz ) —F (Fi@kACMEA) 18-8-40 JIS A 5308 m 3 - -
VF4—=I7Aay s )=k (@AY MEM) 18-10-40 m 3 - -
VI =7 A Ay Y=k (F@EACMEM) 18-12-40 JIS A 5308 m 3 - -
VFA4 =7 A bary s ) —k (@AY MEA) 18-15-40 JIS A 5308 m 3 - =
VFE 4= A Ray s Y—k (F@EkACMEH) 18—-15—-40 C=270MF m 3 - =
VF4 =7 A a7 )=k (@AY MEMN) 21-5-40 JIS A 5308 m 3 - -
VF4—=IJAbarysz)—F (Fi@kACMEA) 21-8-40 JIS A 5308 m 3 - -
VF4 =7 Aays )=k (@AY MEMA) 21-10-40 m 3 - -
VI 4= A Ay Y=k (F@EACMEM) 21-12-40 JIS A 5308 m 3 - -
VF4 =7 Abarys ) —k (@AY MEA) 21-15-40 JIS A 5308 m 3 - =
VF4—=IJAbary sz )—F (Fi@kAYMEH) 24-5-40 JIS A 5308 m 3 - -
VF4 =7 A a7 )= (@AY MEM) 24-8—-40 JIS A 5308 m 3 - -
VF4 =7 Ay )=k (FEEAYMEM) 24-10-40 m 3 - =
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BLHRA BHFFR
VFA4— VA barysY—F (@AY MEA) 24-12-40 JIS A 5308 m 3 - =
VI —= 7 A Rary s Y=k (F@EACMEM) 24-15-40 JIS A 5308 m 3 - -
VI —=X 7 A RarysY—F (F@EACMEM) 27-5-40 JIS A 5308 m 3 - -
VF4—=IJAbary sz )—F (Fi@kACMEA) 27-8-40 JIS A 5308 m 3 - -
VF4 =7 A Ay )=k (@AY MEM) 27-10-40 m 3 - -
VF4 =7 A Ay Y=k (F@EACMEM) 27-12-40 JIS A 5308 m3 - -
VFA4—IJAbarsY—F (E@bkAYMEF) 27-15-40 JIS A 5308 m 3 - =
VF4—=IJAbarysz)—F (Fi@kAYMEA) 30-5-40 JIS A 5308 m 3 - -
VFE4—Is7Abars)—F (F@EtArMEH) 30-8—-40 JIS A 5308 m 3 - -
VF4 =7 Ay )=k (FEEAYMEM) 30-10-40 m 3 - =
VF4—I/7Abarz)—F (F@EvACMEH) 30-12—-40 JIS A 5308 m 3 - -
VFg =7 A Ay Y=k (F@EAMEM) 30-15-40 JIS A 5308 m 3 - -
VFE4—Is7AbarzV—F (K@t Ar MER) #iif4. 5-2. 5-40 JIS A 5308 m 3 - =
VFA =7 Aarys ) —k (kA MEA) #if4. 5-6. 5-40 JIS A 5308 m3 - -
LF 4= A barsY—k (FlbtAYMEF) 18-5-40 W/C=65%UT m 3 - =
VF4 =7 Aary s )=k (Wl AY MEF) 18-8-40 W/ C=65%LTF m3 - =
LF =7 A RarysY—k (F@EACMEM) 18—-12—-40 W/ C=65%T m 3 - =
VF4 =7 Aarys )=k (Wl AY MEM) 18-5-40 W/ C=60%LT m3 - =
LF 4= A barsY—k (FlbtALMEH) 18-8-40 W/C=60%UT m 3 - =
VI —= 7 A Rary s Y=k (F@EACMEM) 18-8-40 C=230ME W/ C=60%F m 3 - =
LI 4= A RarysY—F (F@EACMEM) 18—-12-40 W/ C=60%T m 3 - =
VF4 =7 Abary s )=k (@AY MEM) 18-12-40 C=270LFE W/ C=60%LTF m 3 - =
VFA =7 Abarys )=k (@AY MEA) 18-15-40 C=270LFE W/ C=60%LT m 3 - =
VI =7 A Rary s Y=k (F@EACMEM) 19, 5-8-40 W/C=60%LTF m 3 - =
LF 4= AbarsY—k (FlEbtAYMEH) 21-8-40 W/C=60%UT m 3 - =
VI —= 7 A Rary s Y=k (F@EACMEM) 21-12-40 W/C=60%UTF m 3 - =
LF 4= A barsY—k (FlbtALMEH) 24-8-40 W/C=60%UT m 3 - =
VF4 =7 Aarys )=k (@AY MEM) 21-5-40 W/ C=55%LTF m 3 - =
LF 4= AbarsY—k (FlbAYMEH) 21-8-40 W/C=55%UT m 3 - =
VI —=I 7 A Ay Y=k (F@EACMEM) 21-12-40 W/C=55%MUTF m 3 - =
LF 4= A barsY—k (FlbtAYMEF) 24-5-40 W/C=55%UTF m 3 - =
VF4 =7 Aarys )=k (Wl AY MEM) 24-8-40 W/ C=55%LF m 3 - =
LVF 4= A barsY—k (FlbtAYMEH) 27-5-40 W/C=55%UTF m 3 - =
VI g =7 A Ay Y=k (F@EACMEM) 30-18-40 W/C=55%MUF m3 - =
VFA4—IJ A bary s Y — | NRIEER m 3 1,500 1,500
VT4 =7 A Ay Y=k @S @Ee A s b - BE Al m 3 0 0
VF4—Is7Abarz)—+ (EFEEACMEH) 18-8—-25 (20) Bf JIS A 5308 m 3 20, 500 22, 500
VF 4= A harysU—k (@FEACMEH) 18—-10—25 (20) B m 3 20, 500 22, 500
VF4—Is7Abarz)—+ (EFEEACMEH) 18—-12-25 (20) Bf JIS A 5308 m 3 20, 500 22, 500
VF4 =7 Abarys )=k (EFEACMEM) 18-15-25 (20) B JIS 5308 m 3 20, 500 22, 500
VF4—Is7Abarz)—+ (EFEEACMEH) 18—-18—-25 (20) Bf JIS A 5308 m 3 20, 500 22, 500
VF4 =7 A Ay Y=k (@FEACMEM) 21-8-25 (20) B JIS A 5308 m 3 20, 900 22, 900
LI 4= A RarysU—F (@FEEACMEM) 21-10—-25 (20) B m 3 20, 900 22, 900
VI =7 A Rary s U=k (@EFEACMEM) 21-12-25 (20) BfE JIS A 5308 m 3 20, 900 22, 900
VF4—Is7Abarz)—+ (EFEEACMEH) 21—-15-25 (20) Bf JIS A 5308 m 3 20, 900 22, 900
VI —= A Rarys U=k (@EFEACMEM) 21-18-25 (20) BfE JIS A 5308 m 3 20, 900 22, 900
VF4—Is7Abarz)—+ (EFEEACMEH) 21-21-25 (20) B# JIS A 5308 m 3 20, 900 22, 900
VI =7 A Rary s Y=k (@FEACMEM) 24-8-25 (20) B JIS A 5308 m 3 21, 300 23, 300
LI —=7ARarys U=k (@FEACMEM) 24—-10—-25 (20) B m 3 21, 300 23, 300
VI —= 7 A Rary s U=k (@FEACMEM) 24—-12-25 (20) BfE JIS A 5308 m 3 21, 300 23, 300
V4 —Is7Abarz)—+ (EFEEACMEH) 24—-15-25 (20) B# JIS A 5308 m 3 21, 300 23, 300
VI —= 7 A Rarys U=k (@FEACMEM) 24—-18-25 (20) BfE JIS A 5308 m 3 21, 300 23, 300
VFE4—Is7Abarz)—+ (EFEEACMEH) 24—-21-25 (20) Bf JIS A 5308 m 3 21, 300 23, 300
VF4 =7 ARy U=k (@FEACMEM) 27-8-25 (20) B JIS A 5308 m 3 21, 700 23, 700
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LI 4= A Rarys U=k (@FEEACMEM) 27—-10—-25 (20) B m 3 21, 700 23, 700
VI4—= 7 A Rarys =k (@EFEACMEM) 27—-12-25 (20) BfE JIS A 5308 m 3 21, 700 23, 700
VF4—Is7Abarz)—+ (EFEEACMEH) 27—-15-25 (20) Bf JIS A 5308 m 3 21, 700 23, 700
VI4—= 7 A Ray s Y=k (@EFEACMEM) 27-18-25 (20) BfE JIS A 5308 m 3 21, 700 23, 700
VF4—Is7Abarz)—+ (EFEEACMEH) 27-21-25 (20) B# JIS A 5308 m 3 122, 150 T 24, 150
VF4 =7 A Rary s Y=k (@FEACMEM) 30-8-25 (20) B JIS A 5308 m3 22, 100 24,100
LI 4= A RarysU—F (@FEEACMEM) 30-10—-25 (20) BfE m 3 22,100 24, 100
VI —= 7 A Rary s =k (@EFEACMEM) 30—-12-25 (20) BfE JIS A 5308 m3 22, 100 24,100
VF4—Is7Abharz)—+ (EFEEACMEH) 30-15-25 (20) Bf JIS A 5308 m 3 22, 100 24,100
VI —= 7 ARy U=k (@FEACMEM) 30-18-25 (20) BfE JIS A 5308 m 3 22,600 t 24, 600
V4 —Is7Abarz)—+ (EFEEACMEH) 30—-21—-25 (20) B# JIS A 5308 m 3 T 22, 600 T 24, 600
VF4—= 7 ARy Y=k (@FEACMEM) 33-8-25 (20) B JIS A 5308 m 3 22, 550 24, 550
LI 4= A RarysU—F (@FEEACMEM) 33-10—-25 (20) B m 3 22, 550 24, 550
VI —= 7 A Rarys U=k (@FEACMEM) 33-12-25 (20) BfE JIS A 5308 m3 22, 550 24, 550
VF4—Is7Abarsz)—+ (EFEEACMEH) 33-15-25 (20) B# JIS A 5308 m 3 22, 550 24, 550
VI —= A Rary s Y=k (@EFEACMEM) 33-18-25 (20) BfE JIS A 5308 m3 123,100 t25, 100
VF4—Is7Abarz)—+ (EFEEACMEH) 33-21—-25 (20) B# JIS A 5308 m 3 123, 100 1 25, 100
VF4 =7 A Ay Y=k (@FEACMEM) 36—-8-25 (20) B JIS A 5308 m3 23, 100 25, 100
LI =7 A RarysU—F (@FEACMEM) 36—-10—25 (20) B m 3 23,100 25, 100
VI —=I s A Rarys U=k (@FEACMEM) 36—-12—-25 (20) BfE JIS A 5308 m 3 23, 100 25, 100
VF4—I7Abarz)—+ (EFEEACMEH) 36—-15—-25 (20) B# JIS A 5308 m 3 T 23, 650 T 25, 650
VI —= 7 A Rarys U=k (EFEACMEM) 36—-18—-25 (20) BfE JIS A 5308 m 3 23,650 t 25, 650
VF4—Is7Abarz)—+ (EFEEACMEH) 36-21—-25 (20) Bf JIS A 5308 m 3 T 23, 650 T 25, 650
VI =7 A Rary s Y=k (@FEACMEM) 40-8-25 (20) B JIS A 5308 m 3 24, 200 26, 200
LI 4= A RarysU—F (@FEEACMEM) 40-10—25 (20) B m 3 24, 200 26, 200
VI —= 7 A Rary s =k (@FEACMEM) 40—-12-25 (20) BfE JIS A 5308 m 3 24, 200 26, 200
VF4—Is7Abarz)—+ (EFEEACMEH) 40-15-25 (20) B# JIS A 5308 m 3 T 24, 200 T 26, 200
VF4—= 7 A Rary s U=k (@FEACMEM) 40-18-25 (20) BfE JIS A 5308 m 3 24, 200 26, 200
VF4—Is7Abarz)—+ (EFEEACMEH) 40-21—-25 (20) B# JIS A 5308 m 3 T 24, 200 T 26, 200
VF4—= 7 A Rary s U=k (@FEACMEM) 42-8-25 (20) B JIS A 5308 m 3 24, 800 t 26, 800
LI 4= A RarysU—F (@FEEACMEM) 42—-10—-25 (20) B m 3 24,800 26, 800
VI4—= 7 A Rary s U=k (@FEACMEM) 42—-12-25 (20) BfE JIS A 5308 m 3 24, 800 t 26, 800
VF4—Is7Abarz)—+ (EFEEACMEH) 42—-15-25 (20) B# JIS A 5308 m 3 T 24, 800 1 26, 800
VI4 =7 A Ay U=k (@FEACMEM) 42—-18-25 (20) BfE JIS A 5308 m3 24, 800 t 26, 800
VF4—Is7Abarz)—+ (EFEEACMEH) 42-21-25 (20) Bf JIS A 5308 m 3 T 24, 800 1 26, 800
VF4 =7 A Rarys Y=k (@FEACMEM) 45-8-25 (20) B JIS A 5308 m 3 25, 400 127, 400
LI 4= A RarysU—F (@FEEACMEM) 45—-10—25 (20) B m 3 25, 400 27, 400
VI —=I 7 A Rary s U=k (@FEACMEM) 45—-12-25 (20) BfE JIS A 5308 m 3 25, 400 127, 400
VF4—Is7Abars)—+ (EFEEACMEH) 45-15—-25 (20) Bf JIS A 5308 m 3 T 25, 400 T 27, 400
VI —= 7 A Rary s Y=k (EFEACMEM) 45-18-25 (20) BfE JIS A 5308 m 3 25, 400 127, 400
VF4—Is7Abarz)—+ (EFEEACMEH) 45-21—-25 (20) B# JIS A 5308 m 3 T 25, 400 T 27, 400
VI —=I 7 A Rary s U=k (@FEACMEM) 18-5-25 (20) W/ C=65%UTF B m 3 20, 900 22, 900
LI —= 7 A Rarys =k (@FEEACMEM) 18—-8-25 (20) W/ C=65%T B m 3 20, 900 22, 900
VI =7 A Ay U=k (@FEACMEM) 18—-12-25 (20) W/C=65%LTF BHE m 3 20, 900 22, 900
LF =7 A RarysU—F (@FEEACMEM) 18—-15—-25 (20) W/ C=65%LT BH m 3 20, 900 22, 900
VI =7 A Ay U=k (@FEACMEM) 18-18—-25 (20) W/ C=65%LTF BHE m 3 20, 900 22, 900
LI —=7 A RarysU—F (@FEEACMEM) 18—-8-25 (20) W/ C=60%T B m 3 21, 300 23, 300
VF4 =7 Abarys )=k (@FEACMEM) 19. 5-8-25 (20) W/C=60%LT Bff m 3 21, 300 23, 300
VFEA =7 Abarys )=k (@FEAYMEA) 19. 5-12-25 (20) W/C=60%LT B m 3 21, 300 23, 300
VI =7 A Rarys U=k (@FEACMEM) 21-8-25 (20) W/ C=60%UTF B m 3 21, 300 23, 300
LF =7 A RarysU—k (@FEEACMEM) 21-12-25 (20) W/ C=60%LT BH m 3 21, 300 23, 300
VI =7 A Ay U=k (@FEACMEM) 21-15-25 (20) W/ C=60%LTF BHE m 3 21, 300 23, 300
LI —=7 A RarysU—F (@FEEACMEM) 24-8-25 (20) W/C=60%T B m 3 21, 300 23, 300
VI =7 A Ay U=k (@FEACMEM) 24—-12-25 (20) W/C=60%LTF BHE m 3 21, 300 23, 300
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] 1E

B - kR S - R

BE (A ) i £n A

BURFHA ERZE S
LFq— A Ray s U~ (ElEAY ME) 24-15-25 (20) W/C=60%LF Bif ne o o
LF4—3sAbars )—b (@AY MER) 24-18-25 (20) W/C=60%LF B m3 230 22500
LF4— A RaY s U= (ElEEAY MER) 27-8-25 (20) W/C=60%MUTF BF ne b e
VF 4= A kavys )=k (FFEAY MER) 27-12-25 (20) W/C=60%LTF B m3 I .10
LF A=A Ray s b (EpEEAY ME) 27-15-25 (20) W/C=60%LF Bif ne b e
LF =3 xbavs U= (EFEAYMER) 30-8-25 (20) W/C=60%UTF Bf m3 = e
LF =3 ARy s — b (@EFEACMER) 30-12-25 (20) W/C=60%MUT B n i =
VF 4= A kavy s )=k (FFEAY MEH) 30-15-25 (20) W/C=60%LTF BHE m3 = 10
LF 4= s A Rar s Y — b (AL MEFD) 36-8—25 (20) W/C=60%T B ne o e
LF4—3sAbars)—b (@AY MER) 36-12-25 (20) W/C=60%LTF Bf m3 2100 00
LFgms A RE s b (B A MR 21-8-25 (20) W/C=55%3T B n e -
VF 4= A kavys )=k (FFEAYMER) 21-12-25 (20) W/C=55%LF B m3 I .10
LF 4= sARaY s U= b (LAY ME) 22, 5-8-25 (20) W/C=55%UT B ne b e
LF =3 xbavs Y= (EFEAYMER) 24-8-25 (20) W/C=55%UTF B m3 o =0
LF 4= A Ray s b (EfEEAY ME) 24-12-25 (20) W/C=55%LF Bl ne b e
VFq—SARar s~k (FlEAY M) 27-8-25 (20) W/C=55%LT Bif ne . gtk
LRSS G A 6T (20 ST R OME WO S m3 22,100 a0
LF 1A kays U~k (AL M) 18-5-40 BF JIS A 5308 ne . -
LFg4—I s A bar s )= (@A ME) 18-8-40 BfE JIS A 5308 ne - :
LF s A bay s U b (AL MER) 18- 10-40 B »3 . -
LF =3 s A bay sy (EfEEAY MER) 18-12-40 BRE JIS A 5308 ne - :
LF =3 Abavs)—+ (ElFEACMER) 18—-15-40 B J 1S 5308 »3 . -
LF = s A Ray s Y= (EfFEEAY MEF) 21-5-40 BRE J1S A 5308 n - :
LF4—sAbars ) —b (@iFeAY MEA) 21-8-40 BfE J1S A 5308 »3 . -
LF =3z A bavs )=k (EFEEAVMEM) 21-10-40 BfE ne - :
Ly p—3sAbavs )=k (AL MEA) 21-12-40 BA J IS 5308 »3 . -
LF =3 s A bay s Yk (EfFEAY MER) 21-15-40 BRE JIS A 5308 ne - :
VF 4= A kavys )=k (FFEAY MEH) 24—-5-40 BRE JIS A 5308 » . -
LF 4= A bav s )=k (FFEAY M) 24—-8—40 BRE JIS A 5308 » . -
LF et s A R m s )~k (EfE AL MER) 24-10-40 BIE ne - -
LF 4= ARaYy s =k (e AV ME) 24-12-40 BFE JIS A 5308 ne - .
LFy—3IsARar s —h (ElFEALMER) 24-15-40 B J IS 5308 m3 - -
LF =3 s A Ray s Y (EfEEAY MEF) 27-5-40 BRE J1S A 5308 n - :
VF4—3s A kavys )=k (FFEAY MEH) 27-8-40 BRE JIS A 5308 » . -
LF =z A bavs )=k (EFEAVMEM) 27-10-40 BfE ne - :
L p—3sxbavy U=k (FlFEAY MEA) 27-12-40 BF J 1S 5308 »3 . -
LF =3 s A bay sy (EfFEAY MER) 27-15-40 BRE JIS A 5308 ne - :
VF 4= A kavys )=k (FFEAY MEH) 30-5-40 BRE JIS A 5308 » . -
LF4—3s A Rars )=k (@AY MET) 30-8-40 B JIS A 5308 n . -
LF 3 s A R m s )~k (EfE AL MER) 80-10-40 BIE ne - -
LF4—3IsAabays )= (EfFEACMEM) 30-12-40 BFE JIS A 5308 » . -
LF 4= A kays )=k (EfEACMER) 30-15-40 BRE JIS A 5308 »3 . -
LF =3 oA Rar s Y — b (Bl AL MEFD MiF4. 5—2. 5—40 B JIS A 5308 m3 - -
LF4—3sAbars )—b (@lFeAy MER) fiif4. 5-6. 5-40 BFE J IS A 5308 m3 - .
LF4—3s A arys )~ (#FEAY MEA) C=300-5-40 Bfi n - :
LF4—3Is A a7 )=k (@AY MEN) 18-5-40 W/C=65%LTF B »3 . -
LF g A by s U —b (EfFEAY M) 18-8-40 W/ C=65%UTF B ne - .
LF 4= A Rar s Y=k (FFEAL MEF) 18—12-40 W/C=65%MUTF B m3 - -
L4 A by s Y —b (EfFEAY M) 18-3-40 W/ C=60%UT B ne - .
LF g =37 A harysz Y=k (EFEACMER) 18-5-40 W/C=60%LUT BHE »3 . -
LF 4= ARar s Y~ b (BIFE AL MER) 18-8-40 W/C=60%TF B n - :
LF =R bar s U — b (it AL ME) 18-8-40 C=2308E W/C=60%F BA m3 - .
LF =R Ray s Y= b (B AL MER) 18-12-40 C=2708E W/C=60%LT B ne - .
LF g3z AR ay s )b (AL M) 18-15-40 C=2708E W/C=60%UF BF m3 - -
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#® E
BH (B4 ) HL j<®;:| 7<®n
BLHRA BHFFR
VF4 =7 A Ay )=k (@FEAYMEM) 19. 5-5-40 W/C=60%T Bff m 3 - =
VF4 =7 A a7 )=k (@FEAVMEM) 19, 5-5-60 W/C=60%T B m 3 - =
VF4 =7 A Ay )=k (@FEAYMEM) 19, 5-8-40 W/C=60%T Bff m3 - =
VF4 =7 A Ay U=k (@FEACMEM) 19. 5-12-40 W/ C=60%LF B m 3 - =
VF4 =7 Aarys )=k (@FEAYMEM) 21-8—-40 W/C=60%LT Bfi m 3 - =
VF4 =7 A a7 )=k (@FEAYMEM) 24-5-40 W/C=60%LT Bfl m3 - =
VIS4 =7 Abay s Y—F (@FEACMEN) 24-8-40 W/C=60%UT B m 3 - =
VF4 =7 Abay s )=k (FFEAYMEM) 24-15-40 W/C=60%LF Bff m3 - =
V=7 A Ay )=k (EHFEEAYMEM) 30-15-40 W/C=60%LTF Bfil m 3 - =
VF4 =7 Aay s )=k (@FEAYMEM) 21-3-40 W/C=55%LTF Bff m 3 - =
VF4 =7 A Ay )=k (@FEAYMEM) 21-5—-40 W/C=55%LTF Bfi m 3 - =
VF4 =7 Aay s )=k (@FEAYMEM) 21-8-40 W/C=55%LTF Bff m 3 - =
V=7 A Ay )=k (EHFEEAYVMEMN 21-12-40 W/C=55%LF Bfil m 3 - =
VF4 =7 Aay s )=k (@FEAYMEM) 24-5-40 W/C=55%LTF Bfl m3 - =
VIS4 =7 Abay s Y —F (@FEACMEN) 24-8-40 W/C=55%UT B m3 - =
VF4 =7 A Ay )=k (EFEAYMEM) 24-12-40 W/C=55%LF Bff m3 - =
VF4 =7 A Ay )=k (@FEAYMEM) 27-5-40 W/C=55%LTF Bfi m 3 - =
VF4 =7 Aay s )=k (@FEAYMEM) 27-5-40 W/C=50%LTF Bfl m3 - =
VF4 =7 Abarys )=k (@AY MEA) 30-15-40 C=350LFE W/ C=55%LT Bl m 3 - =
VF4 =7 A Ay )=k (FFEAYMEM) 30-18-40 W/C=55%LF Bff m 3 - =
V=7 A Ay )=k (EFEEAYMEMN) C=300-5-80 Bfi m 3 - =
V4= Abaryz)—F (@FEACMEF) C=600kg/m3 Gmax=80 Bff m 3 - -
VF4—I7Abarz)—F (RitArMEH) 18-8—-25 (20) JIS A 5308 m 3 21, 400 23, 400
VFE =37 A RaysY—k (RfEkACMEH) 18—-10—25 (20) m 3 21, 400 23, 400
VFE4—Is7AbarzV—F (Bt ACMEH) 18—-12—-25 (20) JIS A 5308 m 3 21, 400 23, 400
LF 4= AbarzY—k (RikArMEM) 18-15-25 (20) JIS A 5308 m3 21, 400 23, 400
VF4—Is7Abarz)—F (Bt AMEH) 18-18—-25 (20) JIS A 5308 m 3 21, 400 23, 400
LVF4 =3I Abarysy—F (RikArMEA) 21-8-25 (20) JIS A 5308 m3 21, 850 23, 850
LF 4= A haryzY—k (kA MEH) 21-10-25 (20) m3 21, 850 23, 850
LF 4= AbaryzY—k (RikArMEH) 21-12-25 (20) JIS A 5308 m3 21, 850 23, 850
VFE4—Is7AbarzV—F (BieACMEH) 21-15—-25 (20) JIS A 5308 m 3 21, 850 23, 850
LF 4= AbarzY—k (RikArMEH) 21-18-25 (20) JIS A 5308 m3 21, 850 23, 850
VF4—I7Abharz)—F (Rt ArMEH) 24—-8-25 (20) JIS A 5308 m 3 22, 300 24, 300
VFE g =37 A Ray s Y—k (RfEkACMEH) 24—10—-25 (20) m 3 22, 300 24, 300
VF4—I7Abarz)—F (Rt ArMEH) 27-8—-25 (20) JIS A 5308 m 3 22,900 24, 900
VF =37 A Ray s Y—k (REkACMEH) 27-10—-25 (20) m 3 22, 900 24, 900
VF4—Is7Abarz)—F (RiwArMEH) 30-8—-25 (20) JIS A 5308 m 3 23, 500 25, 500
VF4 =3I Abarysy—F (RikAr MEA) 33-8-25 (20) JIS A 5308 m3 24,100 26, 100
VI 4= A RarysY—F (RiEEXMEF) 36—-8-25 (20) JIS A 5308 m 3 24, 750 26, 750
VF4 =/ Abarysz)—F (RiikAY MEF) 40-8-25 (20) JIS A 5308 m 3 T 25, 950 127,950
LI 4= A RarysY—F (REEACMEM) 21—-12-25 (20) W/ C=55%LTF m 3 22,900 24,900
VF4 =7 Ay )=k (RMEAVMEM) 24-12-25 (20) W/ C=55%MUF m 3 22,900 24, 900
LI g—= 7 A RarysY—k (R MEF) 36—-12—-25 (20) W/ C=55%LTF m 3 24, 750 26, 750
VF4 =7 Ay )=k (RHEAYMEM) 40-12-25 (20) W/ C=55%UF m 3 25,950 127,950
VF4 =7 A a7 )=k (REEACMEM) 18-8—-40 JIS A 5308 m 3 - -
LF 4= A barzY—F (RikAMER) 18-12-40 JIS A 5308 m3 - =
VF4 =7 A a7 )=k (REACMEM) 21-8—-40 JIS A 5308 m 3 - -
LF 4= A barzY—F (RikACMER) 21-12-40 JIS A 5308 m3 - -
VF4 =7 A a7 )=k (REACMEM) 24-8—-40 JIS A 5308 m 3 - -
LF 4= A barsY—F (RikArMER) 24-12-40 JIS A 5308 m3 - -
V4= Aay s )=k (A MEM) #iF4. 5-2. 5-40 JIS A 5308 m 3 - -
LF 4= AbaryzY—k (RikAy MEM) #iF4. 5-6. 5-40 JIS A 5308 m3 - =
LF 4= A barsY—k (REEACMEH) 18-8-40 W/C=60%UT m 3 - =
VF4 =7 Aarys )=k (REEAVMEM) 21-8-40 W/ C=55%LF m 3 - =
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) E
WS - AR BB - R
BH (@4 ) il 2 el
BUGFRHA BLGHEHA
VFA =7 A barys ) —k (R AY M) 24-8-40 W/ C=55%LUT m 3 - -
VF4—I7Abarysz)—F (RifzAYMEMA) 24-12-40 W/C=55%LT m 3 - -
EALL Wi A 11 m 3 31, 000 33, 000
EALL HiE RE 12 m 3 26, 500 28, 500
ENLL Wi A 13 m 3 24, 500 26, 500
EALL HiE A 14 m 3 23, 500 25, 500
ENLL Wil A 15 m 3 22, 800 24, 800
ENHL EF A 11 m 3 31, 000 33, 000
ENLNL W RS 12 m 3 26, 500 28, 500
ENAHL EIF A 13 m 3 24, 500 26, 500
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